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1 MECHANICAL OUTLINES, PINNING AND GLASSFIBER OF THE MODULE

1.1 Mechanical Outlines

Unconnectorized optical CATV receivers are encapsulated in a SOT115U outline. For a detail specification see
Chapter “Package outline”.

1.2 Pinning

The pinning of the BGE887BO is

1.3 Glassfiber

1.3.1 DIMENSIONS OF THE NKF GLASSFIBER

The optical input of the BGY887BO is a single mode glassfiber of NKF. This glassfiber is double coated.

The dimensions of this glassfiber are:

The mechanical characteristics are:

PIN DESCRIPTION

1 Voltage Monitor of the Photodiode Current (typ. 0.8 V/mW)

2 Common

3 Common

5 +VB

7 Common

8 Common

9 75 Ω electrical output

Nominal mode field diameter 9 − 10 µm ± 10%

Cladding diameter 125 µm ± 3 µm

Primary coating diameter 250 µm ± 15 µm

Secondary coating diameter 950 µm + 0 mm/−0.1 mm

Bending radius min. 30 mm

Pulling force max. 6 Newton
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1.3.2 DIMENSIONS OF THE SIECOR GLASSFIBER

The optical input of the BGE887BO is a single mode glassfiber of Siecor (Corning SMF-28, type 1R41-31131-24).
This glassfiber is double coated.

The dimension of this glassfiber are:

The mechanical characteristics are:

1.3.3 STRIPPING OF GLASSFIBER

The glassfibers used for optical receivers are double coated, so stripping of this glassfiber is a double activity. Stripping
can be done mechanically:

1. Strip the secondary coating with a mechanical stripper. The diameter of this stripper (closed) must be 0.40 mm (Parts
of ±1.5 cm length at once)

2. Strip the primary coating with a mechanical stripper. The diameter of this stripper must be 0.18 mm. The primary
coating of the NKF glassfiber can also be removed by dissolving the coating with di-chlorine-methylene (CH2CL2).

Two mechanical strippers that can be used are:

1. Radikor fiber stripper, article no. 650952, type 3756, 0.40 mm red

2. Radikor fiber stripper, article no. 650956, type 3755, 0.18 mm blue.

These strippers can be ordered at:

Radikor Electronics B.V.
PO-box 50006
1305 AA Almere
The Netherlands
tel. +31 365 312 554
fax +31 365 312 465

Nominal mode field diameter 9.3 µm ± 0.5 µm

Cladding diameter 125 µm ± 1 µm

Primary coating diameter 245 µm ± 10 µm

Secondary coating diameter 900 µm

Bending radius min. 30 mm

Pulling force max. 6 Newton
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2 SPECIFICATION:

In the specification of optical receivers, a table with characteristics is included where the main parameters of the device
are mentioned. In this chapter, these characteristics are explained.

2.1 Responsivity

The responsivity of an optical receiver is defined as:

The responsivity is given in voltage per Watt and can be calculated to Amperes/Watt and Watt/Watt as follows:

Responsivity [A/W] = Responsivity [V/W]/load impedance [Ω]

Responsivity [W/W] = Responsivity [V/W]2/load impedance [Ω].

Measuring the responsivity of an optical receiver is determined with a network analyzer. First this analyzer is calibrated
with a calibrated optical reference receiver, the HP83411C. This reference receiver has one optical input and two
electrical outputs; a 50 Ω RF output and a DC output. The responsivity of the two outputs is given. The RF output
responsivity is given in A/W and as function of frequency, the DC output has a responsivity of 2 V/W of the un-modulated
light. After the calibration, the responsivity of an optical receiver is measured compared to the reference receiver.

The output impedance of an optical receiver is 75 Ω and the output of a calibrated reference receiver is 50 Ω. For
calibration, an additional minimum loss pad is needed to convert the 50 Ω output impedance into 75 Ω. This minimum
loss pad has an attenuation of 5.7 dB for power. When the calibration is done with a calibrated reference receiver, the
calibration data has to be adapted for this minimum loss pad. The calibration data is given in A/W, so the current
attenuation of the minimum loss pad has to be calculated:

The current attenuation of a minimum loss pad from 50 to 75 Ω is 20.Log(0.4236) = −7.46 dB.

The current attenuation of a minimum loss pad from 75 to 50 Ω is 20.Log(0.6353) = −3.94 dB.

The responsivity measurement of an optical receiver has to be corrected for the calibrated reference receiver
(cal.ref.rec.) and the minimum loss pad.

responsivity output voltage [V]
input power of modulated light [W]
------------------------------------------------------------------------------------------=

Fig.1  Minimum loss pad.
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Example:

Current attenuation minimum loss pad = −7.46 dB
50 MHz responsivity cal.ref.rec. = 0.44659 A/W = −7.00 dB
50 MHz measured responsivity DUT = 36 dB.

The network analyzer is calibrated as ‘thru-line’, with the calibrated reference receiver and minimum loss pad as thru-line.
The measured 50 MHz responsivity has to corrected for this ‘thru-line’:

2.2 Flatness Of The Frequency Response

The flatness of the response of an optical receiver is defined as the maximum deviation from an absolute flat response
over a given frequency range, after the slope of the receiver over this frequency range has been optimized and equalized
by means of a certain cable length to give the best result for flatness. This means that an ‘ideal response curve’ for the
receiver is calculated and the flatness is the maximum deviation of this ‘ideal response curve’.

Calculation:
To determine the flatness, the measured response curve values are compared with an ‘ideal response curve’ derived
from a mathematical model. The formula used is as follows:

where
R = constant
C = cable constant
fx = desired frequency
f1 = start frequency

The cable constant (C) must be optimized during the flatness determination so that the response curve best fits the
measured response curve figures. The start value for C is calculated using the formula:

where
Rn = the measured response at the stop frequency
R1 = the measured response at the start frequency
fn = stop frequency.

The value of R is chosen so that the maximum positive deviation of the measured response from the ‘ideal response
curve’ is the same as the maximum negative deviation. The value of C is adapted by ±0.001 dB until the ‘ideal response
curve’ best fits the measured curve.

The flatness of the module response is the maximum deviation in measured response from the optimized response
formula.

Responsitivity DUT = measured resp + current att + responsivity cal.ref.rec.

= 36 dB + −7.46 dB + −7.00 dB

= 21.54 dB

= 11.93 A/W

= 895.5 V/W (in 75 Ω)

Responsivity R C
fx
f1
----

 
 
 

+=

Cstart

Rn R1–

fn
f1
---- 1–

 
 
 

-------------------------=



1998 Sep 11 7

Philips Semiconductors Product specification

Using a Philips Optical Receiver in CATV
Applications

Application note
AN98060

2.3 In- And Output Return Losses

The output return loss of an optical receiver is the measured S22 of the output of this module in dB. This S22 is the
−20 log10 of the reflection coefficient, which indicates the matching between the output impedance and the characteristic
impedance of 75 Ω.

The input return loss of an optical receiver is the optical back reflection of the photodiode, measured at the fiber. At a
level of −45 dB input reflection, 0.56% of the total light is reflected back into the fiber.

2.4 Second Order Distortion

The second order distortion product is the difference in dB between the peak level of an RF signal at the measuring
frequency and the peak level of the signal at the measuring frequency caused by two CW signals with their second order
modulation product (f1 ± f2) at the measuring frequency. The second order distortion of an optical receiver is measured
with two lasers. Both lasers are modulated with a CW carrier, which together cause a distortion product at the
measurement frequency. For the second order measurement of an optical receiver, the settings are related to the optical
input signal; the optical un-modulated input power and the modulation index.The measurement starts with a calibration.
First one laser is modulated with a CW signal of the measurement frequency. The optical power level and modulation
index are equal to the ones used for the distortion frequencies. The output power at the measurement frequency is set
as 0 dB level. During measurement, the two lasers are modulated by a CW carrier. The distortion is measured by
measuring the distance between the 0 dB level and the power level at the measurement frequency.

Example:

• Two lasers are set at an (DC) optical output power level of 0.5 mW each

• One laser is modulated for 40% with 324.25 MHz

• The output power measured at 324.25 MHz is set as 0 dB level.

After this calibration:

• Two lasers are modulated for 40% with 135 and 186.25 MHz respectively

• The distortion power is measured at the frequency f1 + f2 = 324.25 MHz compared to the 0 dB level. This distance is
the second order distortion.

2.5 Third Order Distortion

The third order distortion product is the difference in dB between the peak level of an RF signal at the measuring
frequency and the peak level of the signal at the measuring frequency caused by three CW signals with their third order
modulation product (f1 + f2 − f3) at the measuring frequency. The third order distortion of an optical receiver is measured
with three lasers. These lasers are modulated with a CW carrier, which together cause a distortion product at the
measurement frequency. For the third order measurement of an optical receiver, the settings are related to the optical
input signal; the optical un-modulated input power and the modulation index. The measurement starts with a calibration.
First one laser is modulated with a CW signal of the measurement frequency. The optical power level and modulation
index are equal to the ones used for the distortion frequencies. The output power at the measurement frequency is set
as 0 dB level. During measurement, the three lasers are modulated by a CW carrier. The distortion is measured by
measuring the distance between the 0 dB level and the power level at the measurement frequency.

Poptical = 0.5 mW per laser

modulation index = 40%

f1 = 135 MHz

f2 = 189.25 MHz

fmeasurement = 324.25 MHz
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Example:

• Three lasers are set at a (DC) optical output power level of 0.33 mW each respectively

• One laser is modulated for 40% with 324.25 MHz

• The output power measured at 324.25 MHz is set as 0 dB level.

After this calibration:

• Three lasers are modulated for 40% with 326.25, 333.25 and 335.25 MHz

• The distortion power is measured at the frequency f1 + f2 − f3 = 324.25 MHz compared to the 0 dB level. This distance
is the third order distortion.

2.6 Total Current Consumption

The total current consumption Itot is the total DC current consumption of an optical receiver when a DC voltage supply of
24 V is applied.

2.7 Equivalent Input Noise

The schematic of the measurement set-up to measure the equivalent input noise of the optical receiver is given in Fig.2:

Poptical = 0.33 mW per laser

modulation index = 40 %

f1 = 326.25 MHz

f2 = 333.25 MHz

f3 = 335.25 MHz

fmeasurement = 324.25 MHz

Fig.2  Equivalent input noise measurement set-up.
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The total noise power measured at the spectrum analyzer (Psa) consists out of three parts:

Psa = Laser noise + Photodiode shot noise + Optical receiver noise (thermal).

The noise power at the spectrum analyzer is frequency dependent. This noise power can be calculated with:

(1)

Where:

Out of this noise power measurement, the receiver equivalent input noise can be calculated, which is also frequency
dependent. For this calculation, a few assumptions are made:

• RIN of the used laser > 160 dB/Hz (DFB laser)

• The responsivity of the DUT is constant over the used optical input span

• No optical reflections in the used measurement equipment (< −60 dB)

• The noise floor of the used spectrum analyzer is much lower than the receiver noise (use a good pre-amplifier if
necessary, as given in the schematic of the measurement equipment).

2.7.1 MEASUREMENT

1. Measure the Psa with no optical input signal (I0 = 0 mA, Vpin 1 = 0 V). The measured power is the receiver noise
power

2. Adjust the optical power of the laser to the maximum value which will be used (e.g. 2 mW), at this level the RIN of
the laser source should be better than 160 dB/Hz

3. Set the optical attenuator at 0 dB loss

4. Measure the Psa for minimally four different optical input powers by adjusting the optical attenuator (e.g. 0.2, 1,
1.5 or 2 mW) and measure the corresponding I0 by measuring the Vpin 1/1 kΩ. The RIN of the laser stays constant in
this measurement because the laser current has not been changed. The measurement results in the Psa as function
of I0.

Psa = noise power measured at the spectrum analyzer [W]

RIN = relative intensity noise of the laser source [dB/Hz]

I0 = DC detector current (= Vpin 1/1 kΩ) [A]

e = 1.6E-19 [Coulomb = A/Hz]

In = receiver equivalent input noise current [A/√Hz]

B = resolution bandwidth of spectrum analyzer [Hz]

Rd = responsivity of the opt. CATV ampl. = [Ω]

Psa RIN I0
2

2 I0 e In
2

+⋅ ⋅+⋅ 
  B Rd⋅ W[ ]⋅=

Psa

Is
2

--------
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2.7.2 CALCULATION

To calculate the receiver equivalent input noise, a help function has been defined:

(2)

Y(I0) can be calculated for the measured Psa values and plotted as function of I0 (dotted points):

With this graph, the value for Y(0) (I0 = 0) can be found.

For I0 = 0 (no optical input signal):

 (see (1)) and  (see (2)).

These two formulas combined give the formula to calculate the receiver equivalent input noise (EIN):

 [A/√Hz]

where:

Psa = the measured noise power at the spectrum analyzer without an optical input signal

Y(0) = the I0 value out of the graph Y(I0) versus I0
In = the receiver equivalent noise current.

Y I0( )
Psa I0( ) Psa 0( )–

I0
----------------------------------------------

 
 
 

RIN I0 2 e⋅+⋅( ) B Rd⋅ ⋅= =

Fig.3  Y(I0) versus l0.
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3 MONITOR CURRENT PIN

An optical signal which is applied to a reverse biased photodiode will generate electron-hole pairs, resulting in a current.
The ratio between the optical input signal and the current out of the photodiode is the responsivity of a photodiode. This
responsivity depends on the used wavelength, the so called spectral sensitivity. The photodiodes used in Philips optical
receivers have a minimum responsivity of 0.85 A/W at 1310 nm. Pin 1 of the Philips optical receivers can be used to
monitor the un-modulated optical input power (DC). The design of these receivers is such that the DC current out of the
photodiode flows into a 1 kΩ transfer resistor. Via a 10 kΩ resistor the voltage drop over the transfer resistor can be
measured with a high ohmic voltmeter (> 10 MΩ, low ohmic will influence the voltage drop). Because of the use of a 1 kΩ
transfer resistor, the monitor current pin will have a typical output voltage of 0.85 V/mW.

The pin 1 output voltage is dependent on several items:

The optical input power can be measured with an optical power meter at a surface where the optical link can be separated
and connected to this meter. The loss after this point (connector loss), has to be subtracted of the measured optical
power. The loss of a connector is maximally 0.5 dB. The responsivity of the used photodiodes is specified as > 0.85 A/W.
The transfer resistor is developed for 1 kΩ. The accuracy of this substrate resistor is ±1%. After the assembly of the total
receiver, this accuracy is decreased to 1000 Ω ±10% due to different temperature steps.

The pin 1 accuracy is:

All Philips optical receivers are checked on pin 1 voltage between 0.75 and 1 V/mW.

Popt = Optical input power at the receiver

Resp = Responsivity of the used photodiode

Rtransfer = Value of the transfer resistor

Vpin 1 = (Popt − Connector loss) × Resp × Rtransfer

Vpin 1 min = Popt × 0.891 × 0.85 × 900 = 0.68 V/mW (0.77 V/mW without any connector loss)

Vpin1 max = Popt × 1 × 0.95 × 1100 = 1.05 V/mW (0.93 V/mW with 0.5 dB connector loss)

Fig.4  The monitor current pin.
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4 OPTICAL CATV RECEIVER TEST SETUP

The schematic diagram of the optical CATV receiver test set-up, which is used by Philips, is given at the next page.
At the left side of this diagram, three lasers are placed, biased via three laser power supplies. The three lasers can be
modulated by three RF-generators which is needed to measure d2 and d3 . The input of one laser can be switched to
either the output of the RF-generator or to port one of the S-parameter test set. This allows measuring the responsivity .
The light of the lasers is combined by two ‘splitter/combiners’ and applied to the input of the adjustable optical attenuator.
After the optical attenuator, the light is splitted into a 5% and a 95% part. The 5% part is used to adjust and monitor the
optical (DC) light, available at the 95% output of the splitter. The ratio between the 5% and 95% output of the splitter is
measured and added as correction factor in the optical power meter. The 95% output of the splitter is connectorized and
can be connected to the calibrated optical reference receiver (CORR) or to the device under test (DUT). The output of
the CORR can be connected to a power meter to adjust the optical modulated light for the d2 and d3  measurement. The
output of the CORR can also be connected to port 2 of the S-parameter test-set to calibrate for the responsivity
measurement. After calibration, the 95% output of the splitter is connected to the DUT. With a multimeter, the pin 1
voltage of the DUT can be measured, needed for the EIN measurement. The output of the DUT can be switched to port 2
of the S-parameter test-set to measure the responsivity and S22 . The output of the DUT can also be connected to the
input of a spectrum analyzer to measure d2 and d3 . When a 30 dB amplifier is connected between the output of the DUT
and input of the spectrum analyzer, the EIN can be measured.

The equipment which is used is:

• 3 lasers CQF94/D from Philips

• 3 RF-generators HP8657A from Hewlett-Packard

• 3 laser power supplies PLPS2000 from Philips

• 3 splitter/combiners from Gould (50/50%, 30/70% and 5/95% ratio)

• An adjustable optical attenuator HP8156A from Hewlett-Packard

• An optical power meter HP8153A from Hewlett-Packard

• A calibrated optical reference receiver HP83411C from Hewlett-Packard

• A spectrum/network analyzer HP4396A from Hewlett-Packard

• A 75 Ω S-parameter test-set HP85046B from Hewlett-Packard

• A 30 dB low noise amplifier, several 50 and 75 Ω switches, 50/75 Ω minimum loss pads, multimeters, a power supply,
relay actuator and a computer for automated measurement.
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5 BGE887BO CIRCUIT DIAGRAM

The BGE887BO circuit diagram is given in Fig.6.

The photo-diode at the input of a BGE887BO transducers the light into electrical current. The matching networks
matches the photo-diode to the push-pull amplifiers. The transformers used in this matching network amplify the
photo-diode current. This matching network has been patented by Philips Semiconductors, number PHN 14.489. The
push-pull amplifiers are standard CATV amplifiers with a standard output transformer. The total gain of the push-pull
amplifier, including the matching network, is ±21.5 dB.

Fig.6  Circuit diagram of the BGE887BO.
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6 OUTPUT VOLTAGE CALCULATION

An optical CATV receiver converts amplitude modulated optical light into an electrical RF signal. This chapter describes
how to calculate this conversion.The output voltage of an optical CATV receiver can be calculated with the formula:

Output Voltage (peak) = Responsivity × Optical Input Power × m

Where:

Example:

A practical situation is:
Optical input power is 1 mW (0 dBm).
Modulation index m = 5%.
Responsivity = 900 V/W (the typical responsivity of the BGE887BO).

Output Voltage (peak) = Responsivity × Optical Input Power × m

Vout(peak) = R × Poptical × m

Vout(peak) = 900 × 1E-3 × 0.05

Vout(peak) = 45 mV

Vout(average) = Vout(peak)/√2

Vout(average) = 45/√2 = 31.8 mV

Vout(dBmV) = 20log(31.8) = 30 dBmV.

For any other input power and/or modulation index the output voltage can be calculated similarly.

The calculation of the responsivity from V/W into A/W and W/W is given below:

Responsivity [A/W] = Responsivity [V/W]/Load impedance (75 Ω)

Responsivity [W/W] = Responsivity [V/W]2/Load Impedance (75 Ω).

Output voltage = The electrical output voltage in 75 Ω, at the output of the optical CATV receiver module,
given in (m)V

Responsivity = The conversion ratio of an optical CATV receiver module, given as electrical output voltage
per optical input power (V/W)

Optical input power = The unmodulated optical power at the input of the optical CATV receiver module,
given in (m)W

Modulation index = The amplitude modulation index of the optical input signal, given in percentage
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7 CARRIER TO NOISE RATIO CALCULATION

The carrier to noise ratio of an optical link (from laser to the output of the receiver) can be determined by the following

equation:

Where:

Example:

m = modulation index optical input signal

Ipd = photodiode current (= Vpin1/1 k)

e = 1.6 × 10−19 (C = A/Hz)

B = bandwidth (= 5 MHz)

RIN = relative intensity noise of the laser (dB/Hz)

In = equivalent input noise optical receiver (pA/Hz)

m = 5%

Ipd = 1 mA (Vpin 1 = 1 V)

e = 1.6 × 10−19 (C)

B = 5 × 106 Hz

RIN = 3.2 × 10−16 (1/Hz) (= −155 dB/Hz)

In = 7 pA/√Hz

C
N
----

0.5 m
2

Ipd
2⋅ ⋅

2 e Ipd B RIN Ipd
2

B In
2

B⋅+⋅ ⋅+⋅ ⋅ ⋅
---------------------------------------------------------------------------------------=

C
N
----

0.5 0.05( ) 2
1 10

3–⋅ 
  2

⋅ ⋅

2 1.6 10
19–⋅ 

 
1 10

3–⋅ 
 

5 10
6⋅ 

 
3.2 10

16–⋅ 
 

1 10
3–⋅ 

  2
5 10

6⋅ 
 

7 10
12–⋅ 

  2
5 10

6⋅ 
 

⋅+⋅ ⋅+⋅ ⋅

---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------=

C
N
---- 55.6 dBc–=



1998 Sep 11 17

Philips Semiconductors Product specification

Using a Philips Optical Receiver in CATV
Applications

Application note
AN98060

8 BGE887BO AND BGE883BO APPLICATION CONSIDERATIONS

The BGE887BO has been designed for an optical input power of around 0 dBm. Because higher optical input powers
are getting more important, Philips designed the BGE883BO. In this chapter the differences between the BGE883BO
and BGE887BO are explained. The BGE887BO has been designed for the optical input power range between
−3 and +3 dBm. At higher input powers, the second and third order intermodulation of the BGE887BO is limiting for
normal use. The noise of the BGE887BO is not important at those levels.The BGE883BO has been designed for an
optical input power range between 0 and 6 dBm (3 dB higher than the BGE887BO). The intermodulation behaviour of
this module is improved. The noise of this module is higher, but at these levels not limiting. The BGE883BO has 6 dB
less responsivity, >400 V/W in stead of 800 V/W. The output return-loss of this module has been improved significantly.
For the optical input range between 0 and 3 dBm both modules can be used. It is dependent of the application, which
one is preferred.

In Fig.7, a graph is given of the output voltage of the module versus the optical input power and also the carrier to noise
ratio versus the optical input power. The output voltage of the two modules is just shifted with 3 dB of input power. The
C/N ratio is also shifted but has also an other shape.
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In Fig.8, a graph is given of the d2 and d3 intermodulation versus the optical input power. These d2 and d3 of the two
modules are just shifted with 3 dB of input power.
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9 MULTI CHANNEL MEASUREMENTS

CATV amplifiers are specified on multichannel behaviour. The number of channels used for measurements is dependent
on the application. Measurements are done with multichannel equipment which has a generator for each channel. Doing
multichannel measurements on optical CATV receivers requires a big number of lasers. One laser for each channel is
needed to prevent that distortion of the laser is added to the measurement results. This is a very expensive way of
measuring. Another option is using one linear laser and doing two multi channel measurements with one setting of the
laser by using an optical attenuator. After these two measurements, the total power of the measured multichannel
measurement can be divided in the distortion power of the laser and the distortion power of the optical CATV receiver.
An example of this way of measurement and calculation of distortion is given in Section 9.1.

9.1 Calculation of the BGE887BO CTB Figure

The method of calculating the CTB figure of an optical CATV receiver is explained with the help of an example. The CTB,
of the total measurement system, is measured twice; test 1 and test 2.

When the input power and the responsivity of the optical CATV receiver are known, the total CTB power at the output
can be calculated:

Table 1

The CTB product at the output of the receiver is the product of the amplified input CTB and the CTB distortion of the
receiver BGE887BO. At test 1, the total CTB power at the output of the BGE887BO is:

(3)

TEST 1 TEST 2

Input Power: 1.8 dBm −3 dBm

• Poptical 1.5 mW 0.5 mW

• Modulation index 3.5% 3.5%

• Poptical (average)
1 carrier

1.5E-3 × 0.035 × (1/√2)
= 37.1E-6 W
= 37.1 µW

0.5E-3 × 0.035 × (1/√2)
= 12.4E-6 W
= 12.4 µW

Output Power:

BGE887BO:
responsivity = 900 V/W

= 37.1E-6 × 900 = 12.4E-6 × 900

Vout 1 carrier: = 33.4 mV = 11.1 mV

= 30.5 dBmV = 20.9 dBmV

= −18.3 dBm = −27.8 dBm

CTB Power

(319.25 MHz)

CTB = −63.5 dBc = −66.0 dBc

Pout = −18.3 − 63.5 = −27.8 − 66

= −81.8 dBm = −93.8 dBm

= 6.607E-9 mW = 0.417E-9 mW

CTBtotal 1( ) CTBtransmitter responsivity×( ) CTBmodule( )+=
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When the input signal is attenuated optically, the CTB distance of the input CTB stays the same. The amplified input CTB
will also be the same in distance but the absolute power of this signal is lower; −9.6 dB at test 2 compared to test 1. The
added CTB of the receiver BGE887BO is 19.2 dB lower in distance and 28.8 dB lower in absolute output power (when
an output signal is attenuated with x dB, the third order distortion product is 3× dB lower). At test 2 the total output CTB
power is: (compared with test 1, in terms of the used powers at that formula).(1)

(4)

In numbers that is:

CTBtotal(1) = 6.607E-9 mW = (CTBtransmitter × responsivity) + (CTBmodule)

CTBtotal(2) = 0.417E-9 mW = 0.11(CTBtransmitter × responsivity) + 0.0013 (CTBmodule)

Or:

(5)

(6)

Subtracting equation (5) from (6) leads to:

CTBtotal(1) − {9.09 × CTBtotal(2)} = 2.816E-9 mW = 0.9882 (CTBmodule)

CTBmodule = 2.850E-9 mW

Substitution in equation (5) yields:

CTBtransmitter × responsivity = 3.757E-9 mW (@ test 1)

All these powers in mW, are given in Table 2 in dBm. The input signal of 1 carrier is also given in dBm, so the several
CTB figures can be calculated in dBc. The different CTB products are:

(1) CTB is a third order distortion product, so CTB decreases three times faster than the input power.

CTBtotal(2) CTB( transmitter responsivity×( ) 9.6 dB )– CTBmodule 28.8 dB–( )+=

CTBtransmitter responsivity×( ) 0.11×( ) CTBmodule 0.0013×( )+=

CTBtotal(1) 6.607E-9 mW CTBtransmitter responsivity×( ) CTBmodule( )+= =

9.09 CTBtotal(2) 3.791E-9 1 CTBtransmitter responsivity×( ) 0.0118 CTBmodule( )+= =×
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Table 2

As shown in the table above, the input CTB (CTB of the transmitter) is already high. The BGE887BO also has a
contribution in the CTB. To measure the CTB of the receiver accurately, the input CTB must be more than 10 dB better
than the CTB of the receiver. This can be done by:

- Decreasing the number of channels

- Using a more linear laser

- Using a laser with an optical isolator.

Remark: take care that the optical connections don't have a bad optical back reflection (reflections into the laser!).

9.2 Calculation of the BGE887BO CSO Figure

The CSO can be calculated in the same way as done with the CTB calculation. The method of calculating the CSO figure
of an optical CATV receiver is also explained with the help of the same example. The CSO, of the total measurement
system, is measured twice; test 1 and test 2.

When the input power and the responsivity of the optical CATV receiver are known, the total CSO power at the output
can be calculated:

TEST 1 TEST 2

Pout carrier −18.3 dBm −27.8 dBm

Pout (CTB trans. × resp.) 3.757E-9 mW 0.413E-9 mW

−84.3 dBm −93.8 dBm

Pout (CTB module) 2.85OE-9 mW 3.7E-12 mW

−85.5 dBm −114.3 dBm

Pout (CTB total) 6.607E-9 mW 0.417E-9 mW

−81.8 dBm −93.8 dBm

Input CTB −66.0 dBc −66.0 dBc

Module CTB −67.2 dBc −86.5 dBc

Total CTB −63.5 dBc −66.0 dBc
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Table 3

The CSO product at the output of the receiver is the product of the amplified input CSO and the CSO distortion of the
receiver BGE887BO. At test 1, the total CSO power at the output of the BGE887BO is:

(7)

When the input signal is attenuated optically, the CSO distance of the input CSO stays the same. The amplified input
CSO will be the same in distance but the absolute power of this signal is lower; −9.6 dB at test 2 compared with test 1.
The added CSO of the receiver BGE887BO is 9.6 dB lower in distance and 19.2 dB lower in absolute output power (when
an output signal is attenuated with x dB, the second order distortion product is 2× dB lower).

At test 2 the total output CSO power is: (compared with test 1, in terms of the used powers at that formula)(1)

CSOtotal(2)

(8)

In numbers that is:

CSOtotal(1) = 4.898E-9 mW = (CSOtransmitter × responsivity) + (CSOmodule)

CSOtotal(2) = 0.468E-9 mW = 0.11 (CTBtransmitter × responsivity) + 0.012(CTBmodule)

(1) CSO is a second order distortion product, so CSO decreases twice times faster than the input power.

TEST 1 TEST 2

Input Power: 1.8 dBm −3 dBm

• Poptical 1.5 mW 0.5 mW

• Modulation index 3.5% 3.5%

• Poptical (average)
1 carrier

1.5E-3 × 0.035 × (1/√2)
= 37.1E-6 W
= 37.1 µW

0.5E-3 × 0.035 × (1/√2)
= 12.4E-6 W
= 12.4 µW

Output Power:

BGE887BO:
responsivity = 900 V/W

= 37.1E-6 × 900 = 12.4E-6 × 900

Vout 1 carrier: = 33.4 mV = 11.1 mV

= 30.5 dBmV = 20.9 dBmV

= −18.3 dBm = −27.8 dBm

CSO Power

(319.25 MHz)

CSO = −64.8 dBc = −65.5 dBc

Pout = −18.3 − 64.8 = −27.8 − 65.5

= −83.1 dBm = −93.3 dBm

= 4.898E-9 mW = 0.468E-9 mW

CSOtotal 1( ) CSOtransmitter responsivity×( ) CSOmodule( )×=

CSOtransmitter responsivity×( ) 9.6 dB–( )= CSOmodule 19.2 dB–( )+

CSOtransmitter responsivity×( ) 0.11×( ) CSOmodule 0.012×( )+=
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Or:

(9)

(10)

CSOtotal(1) − {9.09 × CSOtotal(2)} = 0.643E-9 mW = 0.891(CSOmodule)

CSOmodule = 0.722E-9 mW

Substitution in equation (9) yields:

CSOtransmitter × responsivity = 4.179E-9 mW (@ test 1)

All these powers in mW, are given below in dBm. The input signal of 1 carrier is also given in dBm, so the
several CSO figures can be calculated in dBc. The different CSO products are:

Table 4

As shown in Table 4, the input CSO (CSO of the transmitter) is already high. The BGE887BO also has a contribution in
the CSO. To measure the CSO of the receiver accurately, the input CSO must be more than 10 dB better than the CSO
of the receiver. This can be done by:

- Decreasing the number of channels

- Using a more linear laser

- Using a laser with an optical isolator.

Remark: take care that the optical connections don’t have a bad optical back reflection (reflections into the laser!).

TEST 1 TEST 2

Pout carrier −18.3 dBm −27.8 dBm

Pout (CSO trans. × resp.) 4.179E-9 mW 0.459E-9 mW

−83.8 dBm −93.4 dBm

Pout (CSO module) 0.722E-9 mW 8.66E-12 mW

−91.4 dBm −110.6 dBm

Pout (CSO total) 4.898E-9 mW 0.468E-9 mW

−83.1 dBm −93.3 dBm

Input CSO −65.5 dBc 65.6 dBc

Module CSO −73.1 dBc 82.8 dBc

Total CSO −64.8 dBc 65.5 dBc

CSOtotal(1) 4.898E-9 mW CSOtransmitter responsivity×( ) CSOmodule( )+= =

9.09 CSO× total(2) 4.255E-9 mW 1 CSOtransmitter responsivity×( ) 0.109 CSOmodule( )+= =
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10 INPUT DYNAMIC RANGE

The photo-diodes used in the Philips optical CATV receivers can handle a maximum input power of 5 mW = 7 dBm,
without any damage or degradation of the photodiode.

10.1 Vpin 1  versus Input Power

In Fig.9, the pin 1 monitor voltage is given as function of the optical input power.

The pin 1 voltage is linear with the optical input power between 1 and 5 mW.
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10.2 D2 versus Input Power

In Fig.10, the second order distortion is given as function of optical input power.

The second order distortion is linear with the optical input power between 0 and 6 dBm. Above 6 dBm, the optical CATV
receiver becomes non-linear because the reverse voltage decreases too much. The reverse biasing of the photo diode
is done via two 1 kΩ resistors. 6 dBm optical input power gives a voltage decrease of 8 V (6 dBm = 4 mW ≈ 4 mA), which
brings the photo-diode in the non-linear region.

handbook, full pagewidth

−75
0 1 2 3 4 5 6 7

MGR364

−70

−65

−60

−55

d2
(dBc)

Pin optical (dBm)

d2 
ideal curve

d2 
324.25 MHz

Fig.10  BGE887BO d2 versus Pin.

m = 40% each laser.



1998 Sep 11 26

Philips Semiconductors Product specification

Using a Philips Optical Receiver in CATV
Applications

Application note
AN98060

11 OPTICAL CONNECTORS

Optical connectors are used to get the light out of one glassfiber into an other glassfiber. For CATV applications, single
mode glassfiber is used. The nominal mode field diameter of these fibers (that part of the glassfiber which is used to
transport the light) is 9 − 10 µm. Because of this small diameter, a precise mating of the two glassfiber end faces is
needed to get all the light from one glassfiber into the other glassfiber. Another problem with glassfiber is reflection of
light when the transport medium changes, e.g. from glass into air. Reflection means losses and there is also a chance
that light gets back into the laser which influence the proper functioning of the laser. To solve these problems as much
as possible, specific high quality connectors are used. Philips supplies FC/APC and SC/APC connectors.

11.1 APC-Ferrules

In an optical connector, the end of the glassfiber is placed in a ferrule, a ceramic or glass bush to fix the glassfiber within
the mechanical outline. The last three characters of the optical connector names are used to specify the end face of this
ferrule of the connector. The characters APC stand for Angled Physical Contact. The end of the ferrule used in the
FC/APC and SC/APC connectors is angled; 8° ± 0.5°. Because of this angle, less light is reflected into the glassfiber
when the glassfiber is open-ended (optical return loss is minimally 60 dB). By using a physical contact between the end
of two ferrules, the light goes directly from glassfiber into glassfiber. This means less reflections and also less losses
(optical insertion loss maximally 0.5 dB). When light goes from one glassfiber via air into an other glassfiber, the optical
losses are 8% (an interface between glassfiber and air gives 4% loss). The end faces of APC ferrules are also polished
to get a very flat plane which makes a better physical contact. The repeatability of APC connectors is 0.2 dB. Two mated
APC ferrules are drawn in Fig.11.

11.2 FC and SC Connectors

The first two characters of the connector names are used to specify the mechanical outline of the connector. The outlines
FC and SC have a very tight mechanical specification to get the ferrules exactly in front of each other and with a specified
pressure pushed to each other by a spring (0.80 to 1.20 kgf spring force).The FC/APC and SC/APC connectorized
optical CATV receivers of Philips also have a buffered glassfiber. Over the glassfiber a thermoplastic yellow 3 mm tube
is placed. In between this tube and the glassfiber a Kevlar aramid fiber is placed. This Kevlar fiber is connected to the
connector and can be used as strain relief by fixing the kevlar at the end tube end, near by the receiver. The outlines of
the FC/APC and SC/APC connectors are given in Figs 12 and 13.

Fig.11  Two mated APC ferrules.
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Fig.12  FC/APC connector.

Dimensions in millimetre.
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Fig.13  SC/APC connector.

Dimensions in millimetre.
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India:  Philips INDIA Ltd, Band Box Building, 2nd floor,
254-D, Dr. Annie Besant Road, Worli, MUMBAI 400 025,
Tel. +91 22 493 8541, Fax. +91 22 493 0966

Indonesia:  PT Philips Development Corporation, Semiconductors Division,
Gedung Philips, Jl. Buncit Raya Kav.99-100, JAKARTA 12510,
Tel. +62 21 794 0040 ext. 2501, Fax. +62 21 794 0080

Ireland:  Newstead, Clonskeagh, DUBLIN 14,
Tel. +353 1 7640 000, Fax. +353 1 7640 200

Israel:  RAPAC Electronics, 7 Kehilat Saloniki St, PO Box 18053,
TEL AVIV 61180, Tel. +972 3 645 0444, Fax. +972 3 649 1007

Italy:  PHILIPS SEMICONDUCTORS, Piazza IV Novembre 3,
20124 MILANO, Tel. +39 2 6752 2531, Fax. +39 2 6752 2557

Japan:  Philips Bldg 13-37, Kohnan 2-chome, Minato-ku,
TOKYO 108-8507, Tel. +81 3 3740 5130, Fax. +81 3 3740 5077

Korea:  Philips House, 260-199 Itaewon-dong, Yongsan-ku, SEOUL,
Tel. +82 2 709 1412, Fax. +82 2 709 1415

Malaysia:  No. 76 Jalan Universiti, 46200 PETALING JAYA, SELANGOR,
Tel. +60 3 750 5214, Fax. +60 3 757 4880

Mexico:  5900 Gateway East, Suite 200, EL PASO, TEXAS 79905,
Tel. +9-5 800 234 7381
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SUNSTAR 商斯达实业集团是集研发、生产、工程、销售、代理经销 、技术咨询、信息服务等为

一体的高科技企业，是专业高科技电子产品生产厂家，是具有 10 多年历史的专业电子元器件供

应商，是中国最早和最大的仓储式连锁规模经营大型综合电子零部件代理分销商之一,是一家专

业代理和分銷世界各大品牌 IC 芯片和電子元器件的连锁经营綜合性国际公司，专业经营进口、

国产名厂名牌电子元件，型号、种类齐全。在香港、北京、深圳、上海、西安、成都等全国主要

电子市场设有直属分公司和产品展示展销窗口门市部专卖店及代理分销商，已在全国范围内建成

强大统一的供货和代理分销网络。 我们专业代理经销、开发生产电子元器件、集成电路、传感

器、微波光电元器件、工控机/DOC/DOM 电子盘、专用电路、单片机开发、MCU/DSP/ARM/FPGA 软

件硬件、二极管、三极管、模块等，是您可靠的一站式现货配套供应商、方案提供商、部件功能

模块开发配套商。商斯达实业公司拥有庞大的资料库，有数位毕业于著名高校——有中国电子工

业摇篮之称的西安电子科技大学（西军电）并长期从事国防尖端科技研究的高级工程师为您精挑

细选、量身订做各种高科技电子元器件，并解决各种技术问题。 

微波光电部专业代理经销高频、微波、光纤、光电元器件、组件、部件、模块、整机；电

磁兼容元器件、材料、设备；微波 CAD、EDA 软件、开发测试仿真工具；微波、光纤仪器仪表。

欢迎国外高科技微波、光纤厂商将优秀产品介绍到中国、共同开拓市场。长期大量现货专业批发

高频、微波、卫星、光纤、电视、CATV 器件: 晶振、VCO、连接器、PIN 开关、变容二极管、开

关二极管、低噪晶体管、功率电阻及电容、放大器、功率管、MMIC、混频器、耦合器、功分器、

振荡器、合成器、衰减器、滤波器、隔离器、环行器、移相器、调制解调器；光电子元器件和组

件：红外发射管、红外接收管、光电开关、光敏管、发光二极管和发光二极管组件、半导体激光

二极管和激光器组件、光电探测器和光接收组件、光发射接收模块、光纤激光器和光放大器、光

调制器、光开关、DWDM 用光发射和接收器件、用户接入系统光光收发器件与模块、光纤连接器、

光纤跳线/尾纤、光衰减器、光纤适 配器、光隔离器、光耦合器、光环行器、光复用器/转换器；

无线收发芯片和模组、蓝牙芯片和模组。  

更多产品请看本公司产品专用销售网站: 

商斯达中国传感器科技信息网：http://www.sensor-ic.com/

商斯达工控安防网：http://www.pc-ps.net/

商斯达电子元器件网：http://www.sunstare.com/

商斯达微波光电产品网:HTTP://www.rfoe.net/

商斯达消费电子产品网://www.icasic.com/

商斯达实业科技产品网://www.sunstars.cn/   微波元器件销售热线： 

    地址：深圳市福田区福华路福庆街鸿图大厦 1602 室 

    电话：0755-82884100 83397033 83396822 83398585 

    传真：0755-83376182  （0）13823648918  MSN: SUNS8888@hotmail.com

    邮编：518033   E-mail:szss20@163.com     QQ: 195847376 

    深圳赛格展销部：深圳华强北路赛格电子市场 2583 号 电话：0755-83665529   25059422 

    技术支持: 0755-83394033 13501568376 

欢迎索取免费详细资料、设计指南和光盘 ；产品凡多，未能尽录，欢迎来电查询。 
    北京分公司：北京海淀区知春路 132 号中发电子大厦 3097 号 
               TEL：010-81159046  82615020  13501189838  FAX：010-62543996   
    上海分公司：上海市北京东路 668 号上海賽格电子市场 D125 号  
               TEL：021-28311762  56703037  13701955389  FAX：021-56703037 
    西安分公司：西安高新开发区 20 所(中国电子科技集团导航技术研究所)   
           西安劳动南路 88 号电子商城二楼 D23 号   

            TEL：029-81022619  13072977981  FAX:029-88789382 
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